Raspberry

1. Problem

-is that big foreign companies have an opportunity to come to Bulgaria and destroy the biodiversity

2. Solution

- is that Government should make the procedure of obtaining the permission harder

3. Benefit

· is that the legal protection of biodiversity will increase

4. Responsible party

· is the Government which has to be able to provide the legal framework of a stronger procedure in the field of obtaining the permit to access the natural habitats

5. Action

- is that the NGOs have to raise the awareness of the local communities in order to make them act. 

